Under CSR Support by

RBSE CLASS 10 | English-First Flight P | aundtn

CHAPTER-9 | The Proposal
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1. How does Natalya react when she learns Lomov
came to propose?
A. She laughs it off
B. She falls into an easy chair and wails for him to
be brought back
C. She scolds her father and sends Lomov away
D. She remains indifferent (B)
Explanation: She collapses into a chair, cries, and
repeatedly demands that Lomov be fetched back.
2. What extreme outburst does Chubukov make
during the commotion?
A. He vows to leave the village forever
B. He threatens to sell the estate
C. He declares he'll shoot and hang himself
D. He calls the police immediately ©
Explanation:|n his hysteria he exclaims he will shoot
and hang himself.
3. What physical complaints does Lomov mention
on re-entering?
A. Fever and dizziness
B. Headache and nausea
C. Heart palpitations, a numb foot, and a pull in his
side
D. Cough and sore throat ©
Explanation:He says his heart is palpitating, his foot
has gone to sleep, and something pulls in his side.
4. What concession does Natalya make about Oxen
Meadows?
A. They should be shared equally
B. They rightfully belong to Lomov
C. They must be sold to the peasants
D. They will be leased to Lomov for a year (B)
Explanation: She admits the Meadows are his and
urges moving on from the quarrel.
5. What reason does Lomov give for pressing the
Meadows dispute?
A. Profit from hay sales
B. Revenge on Chubukov
C. Legal obligation from the court
D. Principle matters more than the land’s value (D)
Explanation : He insists he argued on principle, not
because the land was valuable to him.

6.

What hunting plan does Lomov mention?

A. Bear hunting in winter

B. Blackcock after the harvest

C. Wolf hunting in spring

D. Fox hunting before the rains (B)

Explanation: He intends to try for blackcock once the

7.

harvest is over.

What problem has happened to Lomov’s dog
Guess?

A. It ran away

B. It broke a paw

C. It has gone lame

D. It lost an eye ©

Explanation: He laments that Guess is lame and
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worries about the expense.

How much did Lomov pay Mironov for Guess?

A. 85 roubles

B. 100 roubles

C.125 roubles

D. 150 roubles ©

Explanation: He states he paid Mironov 125 roubles
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for Guess.

How much did Chubukov pay for Squeezer?

A. 60 roubles

B. 70 roubles

C. 85 roubles

D. 100 roubles (@)

Explanation: Natalya says her father paid 85 roubles
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for Squeezer.

What defect does Lomov claim makes Squeezer a
bad hunter?

A. Cross-eyed

B. Overshot jaw

C. Cropped tail

D. Bow-legged (B)

Explanation: He argues Squeezer is “overshot,” which

in his view means a poor hunting dog.
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